Chapter 8 Practice Test

Chapter 8 Practice Test Page 332
1 3 1
—_——_ X =
3 2 6
6xl—6 3x=——x6
2
2-9x=-1
2-9x-2=-1-2
-9x=-3
—9x -3
-9 -9
1
X =—
3
The answer is D.
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2 305
4
2 o325 x 1
-5.2=-3.25¢
-5.2  -3.25t
-3.25 -3.25
1.6=t¢
The answer is A.
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0.45-03g=0.85+0.2¢g
0.45-0.3g+0.32g=0.85+0.2g+0.3¢g
0.45=0.85+0.5¢g
0.45-0.85=0.85+0.5¢ —0.85
-0.4=0.5¢
-0.4x2=0.5g %2
-08=g
The answer is B.
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Chapter 8 Practice Test Page 332 Question 4

By substituting -2 for the value of y in each of the equation, the one that does not have
left side equal to the right side would not have -2 as an answer.
The one that does not work is C.

Check:
2y-1 5y-4
4 8
2y-1 o _dy-4 o
4 8

2QQy-1)=5y-4
2(2y)-2(1)=5y -4
4y-2=5y-4
4y-2-4y=5y-4-4y
2=y-4
2+4=y-4+4
2=y

The correct answer for C is y =2, not y = -2.
Chapter 8 Practice Test Page 332 Question 5
To solve a linear equation, you isolate the VARIABLE.

Chapter 8 Practice Test Page 332 Question 6

2.43=-0.38v

243 -0.38v

~0.38  -0.38
~6.39=1v

For 2.43 = - 0.38v, the solution expressed to the nearest hundredth is v = -6.39.
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Page 332 Question 7

Chapter 8 Practice Test

On the number line, mark off —%. This is the same length for % . To get the full value for

x, we need to double the amount; i.e., mark off another—%. The diagram shows

1
x = —1— as the answer.
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- i l i : : i : i i —
2 1 0
L. —~ A —~ v
X X
— - - _
—~
Chapter 8 Practice Test Page 332 Question 8
a) 15x+3)=0.5x—-1)
L5(x+3)  0.5(x—1) . . ,
= Divide both sides by 0.5
0.5 0.5
3x+3)=x-1
3x)+33)=x-1 Use distributive property on the left side
3x+9=x-1

Move the variables to one
sides

Ix+9—x=x-1-x

2x+9=-1 Collect like terms
2x+9-9=-1-9
2x=-10 Divide both sides by 2
x==5

side by subtracting x on both

Isolate the variable by subtracting both sides by 9

b) In part b), the distributive property is not required. Move the variables to one side, and

then, isolate the variable.
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a+1 B 2a-1

2) 2 5
a_+1 X 10=2a—1 x 10
2 5

5(a+1)=2(2a-1)
5(a)+5(1) = 2(2a) - 2(1)

Sa+5=4a-2
Sa+5-4a=4a-2-4a
a+5=-2
a+5-5=-2-5
a=-7
Check:
Left Side = 41
2
_ -7+1
2
=__6
2
=-3

Left Side = Right Side
The solution, a = -7 is correct.
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Question 9

Right Side =

2a-1

2(-7)-1
5

-1s
5
-3



b) 2.83d-2)=-12.32

2.83d) - 2.8(2) = - 12.32
8.4d—5.6=-12.32

8.4d—5.6+56=-1232+56

8.4d=-6.72

84d  -6.72

84 84
=-0.8

Check:
Left Side =2.8(3d — 2)

=2.8(3(-0.8) = 2)

=2.8(-4.4)

=-12.32

Left Side = Right Side

The solution, d = 0.8, is correct.
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a) —13.9x=5.7-12.5x
—13.9x+12.5x=5.7-12.5x +12.5x

-1.4x=5.7

~14x 5.7
1.4 14

x=-4.1

b) 0.8(2s+3)=-0.6(5s-2)
0.8(25)+0.8(3) = -0.6(55) - (-0.6)(2)
1.6s+24=-35+1.2
1.6s+2.4+35s=-35+1.2+3s
4.65+24=12
4.65+24-24=12-24
4,65 =-1.2
4.6s -1.2
4.6 4.6
s=-0.73

Right Side = -12.32

Question 10
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Chapter 8 Practice Test Page 332 Question 11

a) Substitute 15.5 for the value of s.

01
15.5
r
—— x 155=0.1 x 15.5
15.5
r=1.55

The depth of rain would be 1.55 cm in order to have the same amount of precipitation as
15.5 cm of snow.

b) Substitute 2.7 for the value of .

2T o1

s
2.7

— xs5=0.1xs
K

2.7=0.1s
2.7 0.1s

0.1 0.1
s=27
The depth of snow would be 27 cm in order to have the same amount of precipitation as
2.7 cm of rain.

Chapter 8 Practice Test Page 332 Question 12
Let ¢ represent the number of transactions at the bank.

5.95+0.75¢t=12.70
595+0.75t-595=12.70 - 5.95
0.75t=6.75
0.75¢t  6.75

075 0.75
t=9
Nav made a total of 9 transactions at the bank that month.
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Chapter 8 Practice Test Page 333 Question 13
Let 4 represent the number of hours of service for which both amounts are the same.

64.95 +45h =79.95 + 40h
64.95 +45h — 40h =79.95 + 40h — 40h
64.95 + 5h =79.95
64.95 + 5h — 64.95 =79.95 — 64.95
S5h=15
h=3
It would take 3 h of service time for both to charge the same fee.

Chapter 8 Practice Test Page 333 Question 14

4(2d +3.1) = 5(1.4 - 2d) ,
42d) + 4(3.1) = 5(1.4) — 5(2d) '
8d+12.4=7-10d

8d+12.4+10d="7-10d + 10d + 4

18d+12.4=17 *
184+ 124—-124=7-124
18d = 5.4 Ty oo
18d -5.4 2d + 3.1 14 —-2d
18 18
=-0.3

The length of each side of the square can be found by substituting —0.3 for the value of d.

length = 2(-0.3) + 3.1
=-0.6+3.1
=25
The perimeter of each shape is 4(2.5), or 10 units.
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a) The error occurs on the second line when the distributive property is applied
incorrectly on the left side. Only one term was multiplied by -3.1.

b) -3.12n+3)=12.3
~3.12n) -3.1(3) = 12.3

~6.2n1-93=123
~621-93+93=123+93
—6.2n=21.6
—62n _ 216
62 62
n=-3.5

The correct answer for n should be —3.5, rounded to the nearest tenth.
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